A

WAGNER

GA2005EA

|t
Ew 28
T

o_m |

le6 N,/m —ﬂw _ _
S | 89 9
W 4 L%i_ BRI 0
- i T ugl 04 ;
ER
€8 |28 I8 29 19 u///////%
08

IF20003A

2024.02

T - P = AN AL (e IR /Y o/ S B

Ik -



GA2005EA

A
WAGNER

POS 7 B S TEAM ik
1 350507 |mvr 7 1 30,600
2 9994248 |[AFVL 1 1,500
3 350300 |BEIANT LT T N— 1 30,600
4 350110 |77 Evh 1 200,000
4-1 350324 |7y RUT ) — (1) 13,100
4-2 350354 |[ATV T AR (1) 11,300
4-3 350508 |/ /L7 mwR (1) 8,700
4-4 9998040 (AT (1) 2,000
4-5 350321 |E°Akv (1) 24,200
4-6 350388  |E°RRL vk (1) 7,700
4-7 179339  |Z XXy O 4,500
4-8 350323  |Fwh (1) 6,000
4-9 179342 |AE Sy 4R % (1) 11,100
4-10 350505  |Alih Sy O (1) 5,900
4-11 9971182 |0 Vv O (1) 520[4 X 1
4-12 179343 | AF AR (1) 5,900
4-13 179334 (Vo7 (1) 15,600
4-14 179333 [NV TRTATIRT L g (1) 8,500
4-15 179213 |7 =—R)Ltvh (1) 46,400
4-16 179409 |2 HINAT VT (1) 2,900
4-17 179958 |=—K/Evk (1) 14,600
350910 |[Y—EREvh O 7,500 L7k
5 350224  |tBii NS 1 70,200
6 9907007 [/ XA LR 2 990|M6 X 110
7 9920119 [V~ v — 2 290
8 9971164 [0V 1 690[28 X 1.5
10 9974009 [L— XwF 1 6,500[10.2 X 2.62
11 9971372 |0 UV 1 540(8 X 2
12 350302 |FAANIE 2—H— 1 6,900
13 9974010 [0V 1 750(24 X 2
14 350303  |H/3— 1 17,800
15 9971147 |0V 1 960(7 X 1 /SAky
16 9925002 [AF >V 1 750(34 X 1
17 9974008 |0 V2 2 1,200(63.22 X 1.78
18 350114 | WA —K 1 400,000[Pos.17,21,22,23 £F
19 9900743 [ VEIF/ L 1 640|M4 X 60
20 9920130 |Vl — 1 190[4.5 X 9.0 X 1.0
21 9971003 [0V 3 290(6 X 1
22 350385 |=v 7L 1 3,700
23 9971442 |0V 1 690(6 X 1.6
24 350304 |~V RADUUT 1 73,300
25 9971313 |0V 2 640[12 X 2
26 179375 |[Br&—Uo 7 1 800
27 350340 | AL PRRY—T 1 21,000
30 179415 | —L 3wF 1 7,100
31 179275  |hy 7 r—2A 1 110,000
LF20003A-1
2
AR - 03 - M IE T ERKEETH2HELRHVET, 2024.02




GA2005EA

A
WAGNER

POS S RES B FEAM ik
32 353358 |7 AT AN (1) 8,800
33 179328 [/ A F ks 1 14,000
36 179553 =TT A 1 1,200
37 9904407  |NANSTTTT 1 250|R1/4
38 350305 |3 —UL S RILE 1 6,900
39 350243  |[3—oRwFr 2 7,700
40 350313 |mwrF vk 1 5,200
41 350343 |~ v bh=u L 1 21,000
42 9985582  |TART 4T AL 1 4,000|R1/4M X (8-6)
45 350319  |[AA—H— 2 3,700
46 9900318 [/ AR 2 360|M8 X 20
47 350309 |7FH vk 1 9,600
48 350369  |Amw kL 1 4,600
50 350214  |=7—dfiEE b 1 29,000
51 9913002 |48 b (1) 450|M3
52 350344 |7L—F (1) 3,400
53 9998041  |FHi& /7 (1) 6,500
54 350342  |=v 7L (1) 7,300
55 350341 |7 —arhe—AN LT (1) 13,100
56 9971319 |0 Vv (1) 1,100/5 X 1.5
57 9992103 |mARzZ=FA> 1 2,900|R1/4M X (8-6) Bft-4f
9992103 |/ Rz=FAr 2 2,900{R1/4M X (8-6) C {t#E
58 350312 |7 (1) 3,400|C {14
9903019 [N IAFIED AL 2 360[M6 X 12
59 9900810 [T VEIff/hal 2 450[M2 X 4
60 0350609 |[F—AT7L—h 1 2,700
61 350252  |IKBEES—T L 1 76,500|11m A {14k
350407 |{KBEES—T L 1 45,100[0.15m B {1k
62 350326 |UT T AT a— 1 11,300
63 179367  |[ZmAvEk 1 1,200
64 179369  |Uviy— 1 1,600
65 9990829 |RU—7 1 4,600
67 9903306 | Tt/ Al 2 220[M3 X 8
68 2103559 |N—Tm=F 1 1,800|R1/4M X ( ¢ 8- ¢ 6)
69 2103560 |[N—Tz=F 1 650|R1/4M X ¢ 10A fHEE
(37) 9904407 | ANARLTTF (1) 250|R1/4
71 9910508 |mwZF vk 1 2,500
72 9902505  [ARyF AR 1 2,500
80 179687  HLIRE /ALY h 1 61,700
81 179865 | HIRE /ANHRT 4 (1) 54,200
82 179243 | ARE /AN F T (1) 21,000
83 179447 |Fvv 7T b 1 43,200
90 179711 SR ) XLtk 1.2mm 1 84,600
91 179860 | /AL 1.2mm (1) 24,600
92 179875 7 —F oy Eyh 1.2MM (1) 160,000
93 2209000 |=7—F vy S Fvh (1) 13,000

fIAk - dn - MRS T ERKER T 2ENHYET,

3

LEF20003A-2

2024.02



